w

alphal3_4eX1X
N
1

15

UEILA40_LZA4E Y

0.5

alphal3_4eX1X:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

delta46_12X4eY:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

alpha4b_4ey4ay

8412

3411.5

8411

3410.5

8410

3409.5

8409

3408.5

8408

alpha46_4eY4aY:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

run:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

deltal3_lzx4ex

|
g
2}

_2:

{
N
(S

-2.4

-2.6

-2.8

segment

-3

25

15

05

deltal3_12X4eX:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

segment:cyclenum {run == 8410}

S PR I RPN AR
11565 11565.5 11566 11566.5 11567
cyclenum




-715

=72

-72.5

225

usI_4o

22

20.5

usl_1X:cyclenum {run == 8410}

I X
N I EPEREN SV AR
11565 11565.5 11566 11566.5 11567
cyclenum
usl_4eY:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

usl_say

-36.2
|
-36.4

-36.6

usl_4aY:cyclenum {run == 8410}

11565

11565.5 11566 11566.5 11567
cyclenum

usl_12X:cyclenum {run == 8410}

11565

11565.5 11566 11566.5 11567

cyclenum

8412

3411.5

8411

3410.5

8410

3409.5

8409

3408.5

8408

usl_4eX:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

run:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum




-113.6

-113.8F

-114.2F

-114.4F

-114F

-114.6

-114.8

-115.2F
-115.4F
-115.6 F

-115.8F

-115

15

145

14

135

usr_1X:cyclenum {run == 8410}

Eol v v by v by v b w1y
11565 11565.5 11566 11566.5 11567
cyclenum

usr_4eY:cyclenum {run == 8410}

S S
N D T P

11565 11565.5 11566 11566.5 11567

cyclenum

2.8

2.6

2.4

22

-37.5

-38.5

usr_4aY:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

usr_12X:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

170.4

1170.2F
170 F
169.8 F

169.6 F

169.4

169.2

169

168.8

168.6

168.4

168.2

8412

3411.5

8411

3410.5

8410

3409.5

8409

3408.5

8408

usr_4eX:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

run:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum



16869

6868.5

16868

6867.5

16867

3109.5

-3110

3110.5

-3111

31115

usl_coill:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

usl_coil6:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

1424.2 F

2424

24238 F
2423.6 F

24234 F

2423.2

2423

2422.8

2422.6

2422.4

2422.2

2422

2271

2270.5

2270

2269.5

2269

usl_coil3:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

usl_coil7:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

5428

5427.5

5427

5426.5

5426

8412

3411.5

8411

3410.5

8410

3409.5

8409

3408.5

8408

usl_coil4:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

run:cyclenum {run == 8410}

SN AR I RPN AR
11565 11565.5 11566 11566.5 11567
cyclenum



5323.5

15324

53245

15325

5325.5

—-2990

2990.5

—2991

2991.5

-2992

usr_coill:cyclenum {run == 8410}

L L L1
11565 11565.! 11566 11566.5 11567
cyclenum

usr_coil6:cyclenum {run == 8410}

L L METETE B
11565 11565.! 11566 11566.5 11567
cyclenum

1930.2

1930.4

1930.6

1930.8

-1931

1931.2

1931.4

1931.6

1931.8

-1932

1932.2

usr_coil3:cyclenum {run == 8410}

1932.4L

14542.2F

34542

4541.8

4541.6

1541.4

4541.2

34541F

4540.8

4540.6

1540.4

4540.2

34540

P PP AP AU IR
11565  11565. 11566  11566.5 11567
cyclenum

usr_coil7:cyclenum {run == 8410}
P PRI AP AR IR
11565 115655 11566  11566.5 11567

cyclenum

5816.5

5816

5815.5

5815

5814.5

8412

3411.5

8411

3410.5

8410

3409.5

8409

3408.5

8408

usr_coil4:cyclenum {run == 8410}

Lo L
11566.5 11567
cyclenum

1 L1
11565 11565.5 11566

run:cyclenum {run == 8410}

vl L L
11565 11565.5 11566 11566. 11567
cyclenum




-134

-134.5

-135

1X_coill:cyclenum {run == 8410}

-135.5
BT e LR E T TP e PP PP TP
P PR T I A
11565  11565.5 11566  11566.5 11567
cyclenum
4eX_coill:cyclenum {run == 8410}
-234.6
-234.8F

-235F
-235.2F

-235.4F

-235.6
-235.8

—236

-236.2
-236.4F
-236.6 F

-236.8 F

11565 11565.5 11566 11566.5 11567
cyclenum

LA_CUIS
=
w

125

12

115

11

-235

-24.5

1X_coil3:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

4eX_coil3:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

253

252.5

252

251.5

251

263.8

263.6F
263.4F

263.2F

263

262.8F

262.6 F

262.4

262.2

262

261.8F

261.6

1X_coil7:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

4eX_coil7:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum



293

2925

292

291.5

291

2715

271

269.5

4aY_coild:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

4eY_coild:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

-106.5

-107

-107.5

-108

-108.5

-134.6

-134.8

-135

-135.2 F

-135.4

-135.6

-135.8

-136

-136.2

-136.4

-136.6

-136.8 F

4aY_coil6:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

4eY_coil6:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567

cyclenum

4aY_coil7:cyclenum {run == 8410}

-48.5

-49.5

-415

-42

-42.5

-43

-43.5

11565 11565.5 11566 11566.5 11567
cyclenum

4eY_coil7:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum




-234.5

-235

-235.5

-236

-236.5

o
o

12X_coilé

55

4.5

12X_coill:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

12X_coil6:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

-88.5

-89

-89.5

-90.5

-516.5

-517

-517.5

-518

-518.5

12X_coil3:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

12X_coil7:cyclenum {run == 8410}

11565 11565.5 11566 11566.5 11567
cyclenum

|
g
2}

12X_col4

-2.2

-2.6
-2.8

-3

8412

3411.5

8411

3410.5

8410

3409.5

8409

3408.5

8408

1-1.8F

I
N
T

12X_coil4:cyclenum {run == 8410}

Eol vy by by v b vy 1y
11565 11565.5 11566 11566.5 11567
cyclenum

run:cyclenum {run == 8410}

SN AR I RPN AR
11565 11565.5 11566 11566.5 11567
cyclenum
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